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44 [\F REHE A0 B {1 AT (AR KT) 40f2 EFEKT(HF32) SR 2 2
45 [1F HE= 407538 1A 24T 40%2 AN KT (HF32) VTR 8 16]w300
46 [1F ME= 470 O 3EA 14T H—954(FCL40) A 8 8[ D470
47 [1F ®EE 600 D 1A 14T H—9542(FCL30) FREXM 3 3| ®600
48 |1F BE&-ZBHWC AR E{F14T 402 E FEKT(HF32) SR 5 5]W150
49 [IF BT 402 3B IA 24T 40%Z & S KT (HF32) ST 35 35/W170
50 [1F _ERTF D150 54k VNGRS AT(FHT24) F=EXM 6 6] 150
51 [1IF_EF P1508 I 54k VNP RIR N AT(FHT42) FREXH 7 7] ¢ 150
52 [1F_EF ARYESA+ BEEBKCUAH) SUTKH 6 6]—
53 [1F_ERF 250554k VNGRS AT(FHT32) =AM 2 4] ¢ 250
54 [1F %P 257vk I /NP RIR N AT(FHT42) FREXM] 12 12[ P 300
55 [1F__ %P — a2/ RIS SEAT(FHT32) FEXH 1 1] 4 150
56 |BEER 7354 vk /NP RE S KT(FHT32) 2 B 3T 1 1]w300
57 [2F Wik D250 I 54k CDM150 BEXH 3 3] ¢ 250
58 [2F 6-1 4072 T Bk 2T 4072 5 F KT (HF32) SUTRM 9 18[w240
59 [2F 6-1 A0 B {1 AT (R ARKT) 402 EFEKT(HF32) SR 2 2
60 [2F 5-1 4072 T m Bk 2T 4072 5 F KT (HF32) SUTRM 9 18[w240
61 [2F 5-1 A0 E A1 KT (B ARKT) 402 FEKT(HF32) SR 2 2
62 [2F ZMwWC A0 E T 1AT 4072 EFEKT(HF32) SR 8 8|w150
63 [2F BH=E A0 E {F24T 40f2 EFEKT(HF32) SR 1 2|w230
64 |2F &= 407t T EBRR24T 402 EFEKT(HF32) SR 9 18]W240
65 |2F &= A0 B {1 AT (R ARKT) 4072 EFEKT(HF32) SR 2 2
66 [2F 4-1 407 T E B 24T 402 EFEKT(HF32) SR 9 18]W240
67 [2F 4-1 A0 E A1 KT (EARKT) 4072 EFEKT(HF32) SR 2 2
68 |2F FEMHWC A0 E 1T 402 EFEKT(HF32) SR 7 7|W150
69 |2F ZBEREKE 407238 A 24T 4072 EFEKT(HF32) SR 24 48|w240
70 |2F ZEMEE A0 E {1 AT (AR KT) 4072 E FEKT(HF32) SLTKH 4 4
71 |oF BE= 25089 51k AV RRVESEAT(FHT32) BEXM 34 68] ¢ 250
72 [2F EEm ZRYFSAE U/ AORRIENAT(FHTA2)  [RREXRE 2 2|—
73 [2F BEE AR T T4LT /N RIS AT(FHP45) SR 6 24|W450
74 [2F FEERE A0 E {F24T 4072 5 F KT (HF32) SUTXM 2 4|w230
75 [2F avEa—4—%F 4071538 5A 24T 402 EFEKT(HF32) SR 28 56| W240
76 [2F AL E1—%5—%= A0 B {1 AT (AR KT) 4072 EFEKT(HF32) SR 2 2
77 |2F O F1—53—EB=E 407238 A 24T 4072 5 F KT (HF32) SUTXM 2 4|w240
78 |2F FE#&-Z BHHIWC AR E{F14T 402 EFEKT(HF32) SR 5 5]W150
79 [2F WE=E 4071538 5A 24T 4072 EFEKT(HF32) SR 2 4]W240
80 |2F MUEE(RATF) 4071538 5A 24T 402 E FEKT(HF32) SR 2 4]W240
81 [2F WE=E D150 51k VAR RIR S AT(FHT24) FREXM] 1 1[4 150
82 |2F HAE 10EEST 102 & S AT(FL10) SUTRM 1 11—
83 [2F 1211%1 4072 T m Bk 2T 4072 5 F KT (HF32) SUTRM 12 24|W240
84 |2F RIHE 40RS B {F 1 AT (R ARLT) 4072 5 F KT (HF32) SUTRM 2 2
85 |2F RITH#HFE 40RS E {F24T 4072 5 F KT (HF32) SUTXM 12 24|w230




A BiESRRE—ER

G@NIRE (FE/IMFER)
| No. | BT =E1E5E S 7R e APk b &=
86 |2F IRRIEfHE A0 E {F24T 4072 E FEKT(HF32) ST % 2 4]W230
87 |2F FERE 407 T E B 24T 4075 5 F KT (HF32) SUTXM 12 24|W240
88 |2F IERIE A0 E AT KT (B ARKT) 40f2 EFEKT(HF32) SR 2 2
89 [2F BT 407153854 24T 402 E FEKT(HF32) SR 32 32[W170
90 [2F EFTF - 407 & F KT (HF32) ST 1 2|—
91 [2F EFTF 1508951k VN RRIE N AT(FHT24) =AM 5 5/ 150
92 |REER 2247 vk AN RRVESEAT(FPL27) A 2 2|wW350
93 |ASEE EBYET 405852147 40f2 EFEKT(HF32) SR 5 5|W80
9 |[AEfE X AR T T ALT 202 B HAT(FL20) SUTRM 2 8|W600
9% |[AEfE HEE 40F 857147 4072 5 F KT (HF32) SUTXM 3 3|wso
9% |[AEfE FXRE 40RS E {24 4072 5 F KT (HF32) SUTXM 2 4|w230
97 |AEfE = 40RS B {F24T 4072 5 F KT (HF32) SUTXM 2 4|w230
98 |ASfE #FE 405852147 40f2 EFEKT(HF32) SR 1 1[wso
99 [AEfE AR A0 E {F24T 4072 5 F KT (HF32) SUTRM 1 2|w230
100 |[{AEAE 4iEE 20WI 57k 207 H HKT(FL20) SR 2 2]—
1015 BT 407238 A 14T 4072 5 F KT (HF32) SUTXM 4 4|w210
10244 41BE 300754 vk VNP RIEFAT(FMLT3) FRERH 17 17/ P 300
103|5 JEEREETERE 73479k 60WEEK SR 3 3/ 100
1045 ABEEAREFE) 40057147 4072 5 F KT (HF32) SUTXM 1 2|wso
105[5F 559 K B 400W7K £R KT HEXM 32 32|—
106 |5Y ABEEISVURAD  [40fR5T14T 4072 5 F KT (HF32) SUTXM 2 2|wso
107[4+ wcC 40052147 402 E FEKT(HF32) SR 4 4]w80
108[4F  WCHR—JL R—ILKT CDM70 FREXH] 4 4|—
109[7—JL %P AR E{F14T 402 E FE KT (FLR40) SR 2 2|W150
110[7—JL BHE=E AR E{F14T 402 # FE KT (FLR40) SR 2 2]W150
M7=l EE=E A0 E {F24T 402 E FE KT (FLR40) SR 2 4]w230
112]|7—)L BH=E A0 E {F24T 402 # FE KT (FLR40) SR 2 4]w230
113[7—IL BB AR E{F14T 4072 5 L KT (FLR40) SUTXM 1 2|W150
114]F—JL  4}EE 20WI Sk 207 H HKT(FL20) SR 2 2|—
115[7—JL_WC A0 E {F24T 402 E FE KT (FLR40) SR 4 4]w230




AR BEERE—RER

BORNRE (BB ER/NMNER)

No. b Toid EESHE SUJHESE XAE | REB=E|SUTHE %
1 |1F BRE=E 40 E (14T A0F2 R FLAT (FLRAO) |52 TR 8 8|w150
2 [1F BFl=E AW EIKT(ERKT)  [40REMAT (FLR40) [T 2 2

3 [IFIEHEERFE 40 E (14T A0F2 R FLAT (FLRA0) |52 TR 2 2|w150
4 [MF £EFRI=E 40 E (14T A0FZ R FLAT (FLRAO) |52 TR 6 6]W150
5 [1F £FRI=E AW EIKT(ERKT)  [40REMAT (FLR40) [T 2 2

6 |1F BEclg= 40 E (14T A0F2 R FLAT (FLRA0) |52 TR 2 2|w150
7 NFDOEE 40 E {3247 A0F2 R FLAT (FLRAO) |52 TR 6 12|W230
8 [1F D= AW EHIKT(ERLT)  [40REMAT (FLR40) [T 2 2

9 [1F FrxL 248 40 [E {3247 A0FZ R ILAT (FLRAO) |52 TR 2 4|w230
10 [IF FrL 2248 AMEIKT(ERKT)  [40REMAT (FLR40) [T 2 2

11 [1F 2-2 A0S IE 24T A0 HIEKT (FLRA0) |57 3 6]|W230
12 [1F 2-2 AW EIKT(ERKT)  [40REMAT (FLR40) [ Tx# 2 2

13 [1F 2-1 A0S IE fF24T A0 | IEKT (FLRA0) [|S TR 5 10[w230
14 [1F 2-1 AW EIKT(ERKT)  [40REMAT (FLR40) [T 2 2

15 [1F 1-2 A0S IE fF24T A0 KT (FLRA0) [|S T 5 10[w230
16 [1F 1-2 AMEIKT(ERKT)  [40REMAT (FLR40) [T 2 2

17 [1F 1-1 A0S IE fF24T A0 | IEKT (FLRA0) |5 TR 5 10[w230
18 [1F 1-1 AW EIKT(ERKT)  [40REMAT (FLR40) [T 2 2

19 [1F EBR A 20 E (14T 20/ FLAT(FL20) SUTXH 6 6]W150
20 [1F BB F{ 40 E (14T A0F2 R ILAT (FLRAO) |52 TR 3 3|w150
21 [1F R0 40 E (14T A0F2 R FLAT (FLRAO) |5 TR 4 4|W150
22 [1F &0 20 E (14T 20/ FLAT(FL20) SUTXKH 1 1|w150
23 |1F %8 40 E (14T A0F2 R FLAT (FLRA0) |52 TR 2 2|w150
24 IF 5= 40F5 1R IA4KT A0 | IEKT (FLRA0) |5 TR 4 16|W600
25 [1F = 40 E (14T A0F2 R FLAT (FLRAO) |52 TR 3 3|w150
26 [1F RE= AW EIKT(ERKT)  [40REMAT (FLR40) [T 2 2

27 [1IF RB= 5T 10f 84T (FL10) ST 1 1

28 [IF BB%F5 40 E (14T A0F2 R FLAT (FLRAO) |52 TR 4 4|W150
29 [IF BB%F5 AW EIKT(ERKT)  [40REMAT (FLR40) [ TxH# 2 2

30 |[1F SAE= 40 E (14T A0F2 R FLAT (FLRA0) |52 TR 6 6]W150
31 [1F SAE=E AW EIKT(ERKT)  [40REMAT (FLR40) [ TxH# 2 2

32 [1F 9= 20 E 14T 20/ 8 KT (FL20) SUTXH 2 2|W150
33 [IF BEF TQ 20 E (14T 20/ FLAT(FL20) SUTKH 3 3|w150
34 [1F B 5 3R HARIITAL 20f2 E FLAT (FL20) SUTXH 2 8|w650
35 [1IF BEKR=E 20 E {F24T 20/ E FLAT (FL20) SUTER 1 2[w230
36 [1IF EKR= 20055 —1) T S A RAKT [20% % S AT (FL20) SUTXH 1 4

37 IF K= FyFILT 15 84T (FL15) ST 1 1

38 [IFEE =5—4T 10f 84T (FL10) SUTXKH 2 2

39 [1IF EH= $ 100754 vk FIR60W SOTRM 1 1[®d 100
40 |2F RE= 40 [E {3247 A0FZ R ILAT (FLRAO) |52 TR 13 26|W230
41 |2F RE=R AWEIKT(ERKT)  [40REMAT (FLR40) [T 2 2

42 2F RE=R 40 E {3 14T A0F2 R FLAT (FLRAO) |52 TR 4 4|W150
43 |2F RE=E 40 1B A 44T A0F2 R FLAT (FLRA0) |52 TR 2 8|w600
44 |2F RE=E =5—4T 20/ E FLAT (FL20) SUTKH 1 1

45 |2F BUEE 402 E (24T A0F2 R FLAT (FLRA0) |52 TR 1 2|w230
46 |2F BUEE 20 E (14T 20/ FLAT(FL20) SUTKH 1 1|w150
47 |2F BUEE 202 E (24T 20fZ E FLAT (FL20) SUTXKH 1 2|w230
48 |2F BB = 402 E (24T A0F2 R FLAT (FLRA0) |52 TR 10 20|W230
49 2F BB = 5T 10f 84T (FL10) ST 2 2

50 [2F BB = 40 E (14T A0F2 R FLAT (FLRA0) |52 TR 2 2|w150
51 |2F ENRIZE 40 E (14T A0F2 R FLAT (FLRA0) |52 TR 1 1|w150
52 [2F BHE=E 202 E (24T 20f2 E FLAT (FL20) SUTXH 2 4|w230
53 |2F /\YOVE 40 E (14T A0F2 R FLAT (FLRA0) |52 TR 8 8|w150
54 |2F /A\YOVE AW EIKT(ERKT)  [40REMAT (FLR40) [ TxH# 2 2

55 [2F EH=E 40 E (14T A0F2 R FLAT (FLRA0) |52 TR 2 2|w150
56 [2F R T= 40 E (14T A0F2 R FLAT (FLRAO) |52 TR 6 6]W150
57 |2F IIT= AW EIKT(ERKT)  [40REMAT (FLR40) [T 2 2

58 |2F BE 40 E (14T A0F2 R FLAT (FLRAO) |52 TR 2 2|w150
59 |2F A1 ILZEHR 40 E (14T A0 KT (FLRA0) |5 TR 6 6]W150
60 [2F <AL AW EHIKT(ERLT)  [40REMAT (FLR40) [T 2 2

61 |2F FrL T8 40RE 14T 40T E AT (FLRA0)  |S TR 6 6]W150
62 |2F FrL T2k AWEIKT(ERKT)  [40REMAT (FLR40) [T 2 2

63 |2F 4-2 A0 E KT A0 HIEKT (FLRA0) |5 TR 6 6|W150
64 |2F 4-2 AW EIKT(ERKT)  [40REMAT (FLR40) [ TxH# 2 2

65 [2F ER=E 40 E (14T A0F2 R FLAT (FLRA0) |52 TR 2 2|w150
66 |2F 4-1 A0RLE 14T A0 KT (FLRA0) |5 TR 5 5|W150
67 |2F 4-1 AW EIKT(ERKT)  [40REMAT (FLR40) [T 2 2

68 [2F 3-2 A0RE KT A0 | IEKT (FLRA0) [|S TR 6 6]W150
69 [2F 3-2 AW EIKT(ERKT)  [40REMAT (FLR40) [T 2 2

70 [2F 3-1 A0S EH1KT A0 | IEKT (FLRA0) [|S TR 6 6]W150




AR BEERE—RER

BORNRE (BB ER/NMNER)
No. L Toil REESE SUJHESE xAE | RER=E|SUTHE iB%
71 [2F 3-1 AW EIKT(ERKT)  [40REMAT (FLR40) [ TxH# 2 2
72 [2F BT 40 E (14T A0F2 R FLAT (FLRAO) |52 TR 3 3|w150
13 [2F BT 20 E (14T 20/ FLAT(FL20) SUTXKH 6 6]W150
74 |3F BEE 40 E A 14T 40| AT (FLR40)  [STxRH: 9 9|W150
75 |3F BE=E AW EIKT(ERKT)  [40REMAT (FLR40) [T 2 2
76 [3F EH=E 40 E (14T A0F2 R FLAT (FLRA0) |52 TR 2 2|w150
77 [3F EXR)—)L—L 40 E (14T A0F2 R FLAT (FLRAO) |52 TR 6 6]W150
78 [3F EXR)—)L—L AW EHIKT(ERLT)  [40REMAT (FLR40) [T 2 2
79 [3F BE 40 E (14T A0FZ R ILAT (FLRAO) |52 TR 2 2|w150
80 [3F 6-2 A0RE 14T A0 | IEKT (FLRA0) [|S T 6 6]W150
81 [3F 6-2 A EHIKT(ERLT)  [40RE AT (FLR40)  [S2TxH# 2 2
82 [3F 6-1 A0 E KT A0 HIEKT (FLRA0) |5 TR 6 6|W150
83 [3F 6-1 AW EIKT(ERKT)  [40REMAT (FLR40) [T 2 2
84 [3F ZEM=E 40 E (14T A0F2 R FLAT (FLRA0) |52 TR 6 6]W150
85 [3F ZLEM=E AWEIKT(ERKT)  [40REMAT (FLR40) [ TxH# 2 2
86 [3F BEHI= 40 E (14T A0F2 R FLAT (FLRAO) |52 TR 2 2|w150
87 |3F ATYITH=E 40 E (14T A0F2 R FLAT (FLRAO) |52 TR 6 6]W150
88 |3F ATYITH=E AW EIKT(ERKT)  [40REMAT (FLR40) [T 2 2
89 [3F 5-2 A0RLE 14T A0 KT (FLRA0) |5 TR 6 6|W150
90 [3F 5-2 AW EIKT(ERKT)  [40REMAT (FLR40) [T 2 2
91 [3F 5-1 A0RE 14T A0 | IEKT (FLRA0) [|S T 6 6]W150
92 [3F 5-1 AWEIKT(ERKT)  [40REMAT (FLR40) [ TxH# 2 2
93 [SFETF 20 E (14T 20/ FLAT(FL20) SUTXH 4 4]W150
94 [BERD 20 E (14T 20/ FLAT(FL20) SUTKH 10 10/W150
95 |F5ER@ 20 E 14T 207k & S AT(FL20) ST 3 3|w150
96 [ATEERAL 40 E (14T A0F2 R FLAT (FLRAO) |52 TR 2 2|w150
97 [(AEEE 40 E (14T A0F2 R FLAT (FLRAO) |52 TR 1 1|w150
98 [AEEE ARybS Lk E—LEk ST 1 1
99 |[BShAL A0S IE 24T A0 IEKT (FLRA0) [|S TR 2 4]w230
100 [BSA AL ® 1000 5 vk BEK60W SUTRE 1 1[®100
101 |4+ 4T d 1002 54wk EIR60W SUTER 16 16/ ® 100




AR e iR — &

CORRE (BIF/NER)

No. BT =E1E%E S5 J1E%E TWAR |BEHE|SUTHE &=
1 [1F_B&hkqL 6300754 vk H—-54(FCL30) HEXH 1 1

2 [1IF RE=E 40 E {247 4072 3 F KT (HF32) ST 3 6|W230
3 [IF RE=E A0 E 14T (EARAT)  [40RZEH K AT(HF32) ST 2 2

4 [1F ERB=E 40/ 057247 40% & AT (HF32) S TR 2 4

5 [1F A= 40/ 057247 40% & FAT(HF32) S TR 2 4

6 [IF BT ¢ 300957 vk H—%9542(FCL30) HEXHE 4 4
71F_ BT 40/ 057247 40% & AT (HF32) S TR 1 2

8 [1F E&TF ARSI IT3IT 40%2 3 F KT (HF32) ST 6 18] 00450
9 |1F B A0FZIEA 1 KT 40%2 B F KT (HF32) ST 7 7]W150
10[1F REE AR T 73T I N\ H AT (FHP32) ST 18 54| 1450
11[1IF_ERTERE 20RSE {1 4T 20% & FAT(FL20) S TR 1 1
12[1F REHE 40 E {247 40% H F AT (HF32) ST 12 24|W230
13[1F REHE A0 E (14T (EARAT)  [40RZEH K AT(HF32) ST 2 2
141F REFERFE 40 E {247 4072 3 F KT (HF32) SR 3 6|W230
15[1F EeRE=E 40 E {247 4072 3 F KT (HF32) ST 3 6|W230
16 |1F B&k(L 40 E{F14T 4072 3 F KT (HF32) ST 6 6]|W150
17[1F EAIFIE-UFEDY  [40RE{F24T 40%2 3 F KT (HF32) ST 6 12]W230
18[1F FAIFIE-UFEDY [40MEF1AT (BIRAT) |40 R HAT(HF32) ST 2 2
19[1F 1-1 A0 E {247 4072 3 F KT (HF32) ST 9 18]w230
20[1F_1-1 AW E 14T (BARET) |40 B HAT(HF32) S TR 2 2
21[1F 2-1 A0 E {F24T 40%2 3 F KT (HF32) ST 9 18[w230
22[1F 21 A0 E (14T (EARAT)  [40RZEH K AT(HF32) ST 2 2
23[1F 31 A0 E {F24T 4072 3 F KT (HF32) ST 9 18]w230
24[1F _3-1 A0 E 14T (EARAT)  [40RZEH K AT(HF32) ST 2 2
25|1F _EF A0FZIE A 1KT 40%2 3 F KT (HF32) ST 8 8[W150
26 |BSEY 41T S7vE 40% & AT (HF32) S TR 1 1
27[2F BEE=E 40 E {247 4072 3 F KT (HF32) ST 9 18]W230
28 [2F HEE=E A0 E 14T (EARAT)  [40RZEH K AT(HF32) ST 3 3
29|2F BREERFE 40 E {247 4072 3 F KT (HF32) ST 2 4|W230
30[2F 4-1 40 E{F24T 4072 F H AT(HF32) VT 9 18[W230
31|2F 4-1 AR E 14T (BARKT)  |40FE B HAT(HF32) S TR 2 2
32|2F B&kAL 40 E{F14T 40%2 3 F KT (HF32) ST 6 6]W150
33[2F 5-1 A0 E {F24T 4072 3 F KT (HF32) ST 9 18]w230
34[2F 5-1 A0 E (14T (EARAT)  [40RZEH K AT(HF32) ST 2 2
35[2F 6-1 A0 E {F24T 4072 3 F KT (HF32) ST 9 18]w230
36[2F 6-1 A0 E (14T (EARAT)  [40RZEH K AT(HF32) ST 2 2
37[oF SEXERE 40 1B f5124T 40% & AT (HF32) S TR 3 6|W230
38l2F FEE 40F2 1A 14T 40%2 3 F KT (HF32) ST 22 22|W150
39|2F BXEF A0 E 14T (EARAT)  [40RZEH K AT(HF32) ST 2 2
40|2F EEF A0FZIEA 1 KT 40%2 B F KT (HF32) ST 7 7]W150
41[2F BT $ 300957 vk H—%9542(FCL30) HEXE 3 3
42|2F BH=E 40 E 24T 40%2 B F KT (HF32) ST 1 2|w230
43|2F B&hkAL 6300754 vk H—5542(FCL30) HEXHE 1 1
44[2F I E 40 E {247 4072 3 F KT (HF32) ST 6 12]w230
45|2F RI=E A0 E 14T (EARAT)  [40RZEH K AT(HF32) ST 2 2

46 |2F HEFRE 40 E {247 4072 3 F KT (HF32) ST 6 12]w230
47|2F EFHE A0 E (14T (EARAT)  [40RZEH K AT(HF32) ST 2 2
48|2F /RVaVE 40 E 24T 40%2 3 F KT (HF32) ST 7 14]W230
49|54 HiEE $ 200957 vk I NG RERIEHAT(FML18) AR E AT 5 5

50[4} BITF $ 300957 vk H—5954(FCL32) HEXE 2 2

51 (4% &1 BE (3BH) 25459k B EEERGR—ILER) SR 2 2|O0170
5254 55Uk L3527 INSARL RIKERKT HEXH 2 2

53[4% AEBE(FAL) 20 E{F 14T 2072 B F KT (FL20) ST 3 3|w150
54|59\ FERETEE 20 E{F 14T 2072 B F KT (FL20) ST 1 1{w150
55[4F R T= 40 E 14T 40% & FAT(HF32) S TR 1 1{w150
56 | ABEE RT— A0 RS 14T 4072 3 F KT (HF32) ST 5 5

57| AEE MEE 20 E (24T 202 B F KT (FL20) ST 1 2|w230
58 |[AEEE EBHREEE [20BE{F24T 2072 3 F KT (FL20) SR 1 2|w230
59 [ABfE BE1 40 E{F14T 4072 3 F KT (HF32) ST 1 1{w150
60 | AEEE B2 40 E{F14T 4072 3 F KT (HF32) ST 1 1{w150
61 |ABEE HEE 40 E 14T 40T FAT(HF32) S TR 1 1{W150
62| AEEE FHELAL 20 E (24T 2072 B F KT (FL20) ST 2 4]w230
63| AEEE %EH 20 E{F 14T 2072 B F KT (FL20) ST 1 1{w150
64 |[AFEE XM 208954 vk 2072 B F KT (FL20) ST 1 1

65 |ABEE TRE 208954 vk 20% & AT (FL20) SUTRM 1 1

66 [(AFEE Bt BT 20 B F KT (FL20) ST 2 2




AR R iE—BEX

@NERE (fE /MR

No. 1BAT FEEE SUJEE AR [BEHKE[SUTHE] HE
1 |E=E 40TZ185A 24T 40T EIEKT(HF32) [So T 9 18|W300

2 |ABE(HEZE) [20WEH14T 20F2 EHAT(FL20) |25 E3c#h 1 1{w150

3 | AEECE) LEDEH D AES 1 LED




BIAR: B R — B

@MEIRE BREF/NER)

No. BT EEE S 75 AR (BEH=E|STHRE] EHEE
1[1F REE= 405 & {247 4082 H KT (FLR40) FEXRH 3 6|W230
2[1IF £E=E A0S E {4247 40%2 = F KT (FLR40) HEXH 2 4|W230
3 ZRE LEDEH D A%tRE 2 LED
41F A= 40 E {4247 40%% = KT (FLR40) FEXH 10 20{W230
5/1F R8BS 405 & {247 4082 H KT (FLR40) EEXME 1 2|w230
6|1F BE= (FIRIE) |20WE 14T 40%% = KT (FLR40) HEXH 2 2|W150
111F BAHEE 40f5 & {247 4082 H H KT (FLR40) FEXRH 1 2|w230
8|1IF FBE= RUBURSAE H—%554(FCL30+FCL40) |BEXM 1 1
9[1F M= 405 & {247 4082 H H KT (FLR40) FEXRH 1 2|w230

10[1F MUXE 20 E (14T 40%% = KT (FLR40) HEXH 1 1{W150

11[1F HOER 40RZ1EIA 24T 40%Z H KT (FLR40) EEXME 4 8|W300
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64|3F #H=E1 40T EEA 14T (BARAT)  [40F S 4T(FLR40) ST 2 2|w220
65[3F BFhrAL 40 B fF14T 4071 & S kT(FLR40) HEXH 1 W150
66[3F ZFrAL A0 E 14T 407 & . KT (FLR40) BEZH 1 W150
67[3F 3-1 40 E {247 4071 & S kT(FLR40) HEXH 5 10]w230
68[3F 3-1 40T EEA 14T (BARAT)  [40F S 4T(FLR40) ST 2 2]w220
69[3F 3%E 40 E {247 4071 & S kT(FLR40) HEXH 5 10]w230
70[3F 3%H 40T EEA 14T (BARAT)  [40F S 4T(FLR40) ST 2 2|w220
71|3F #H=2 40 E {247 4071 & S kT(FLR40) HEXH 6 12]w230
72[3F #H=E2 40T B A 14T (BARAT)  [40F H S 4T(FLR40) ST 2 2|w220
73|3F FEF=3 40 E{F24T 40%i2 = S KT(FLR40) 2 233 8 16|W230
74[3F BT 205 1B {51 24T 207 # F KT (FL20) FHEXH 7 14]w230
75[3F ERF 20 E{F 14T 207 H F KT (FL20) HEXH 1 1[wis0
77|4F FERE 40 E {247 407 & . KT (FLR40) FHEXH 9 18]w230
18[4F BE=E A0RZIEA KT (BARAT)  |40RZ A KT(FLR4AO) ST 2 2]w220




A BRFRE—ER

QHERE (FEHER)

No. BT #BEEE SUJiE%E T|AX | BEKE |SUTHE S
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80[4F IDDMEE 40 E {247 407 & . KT (FLR40) FHEAXH 2 4]w230
81|4F EfTERE 40 1B {247 4071 & S kT(FLR40) HEXH 2 4|w230
82|4F EffTE A0 E 24T 407 & . KT (FLR40) FEAXH 12 24{W230
83|4F EffiE A0FLIEIA KT (BARKT)  [40F2 B K KT(FLR40) SUTRH 2 2|w220
84|4F BFHAL 40 E {147 4071 & KT (FLR40) FHEAXH 2 W150
85[4F TFhrAL 40 B {1 4T 4071 & S kT(FLR40) HEXH 2 W150
86|4F EE1/2/3 A0 E 14T 407 & . KT (FLR40) FHEAXH 3 3|w150
87|4F =1 40 B fF14T 4071 & kT(FLR40) HEXH 3 3]W150
884F /XYOVE A0 EL {4247 (/N —{F=[40% S T(FLR40) ST 32 64{W250
89|4F /XYOVE A0RZIEA KT (BARKT)  |40RZ A KT(FLR4AO) ST 2 2]w220
90|4F /XVIOVERE 40 E 14T 4071 & KT (FLR40) FHEAXH 3 3|w150
91|4F HMEE 40 B {247 4071 & e kT(FLR40) HEXH 9 18]w230
92[4F BT 20RE (24T 207 #= F KT (FL20) BEZH 6 12{W230
93|4F BT 20 E{F 14T 207 H KT (FL20) HEXH 1 1[w1s0
94| R FSEY 205 1B {51 24T 207 # H KT (FL20) FHEAXH 7 12]w230
95| Fa PR 20R E {F 24T 207 H F KT (FL20) HEXH 9 18|w230
96|TRVT= 40 E {147 407 & . KT (FLR40) FHEAXH 2 2]W150
o7 A B EE BXFH 400WIKER AT EBEM 30 30
B AFE RT—) 110fZ383A 24T 110/ & FEXT(FLR110) ST 12 24{W230
V[ ARBE(EE) 40 1B {247 4071 & S kT(FLR40) HEXH 4 8|w230

100 {AE fE (BUEE) 40 E {247 407 & . KT (FLR40) FHEAXH 1 2]w230

101|ABEE(ET7 /&) AR RES] 4071 5 kT(FLR40) HEXH 1 1[wis0

102| A EfE QEmE ) AR T 73T /NI RE S KT(FHP32) 33 99|01450

103 AEEE (XFEKRE) [40EF1LT 4071 & kT(FLR40) HEXH 3 3|w150

104| (A B EE (BEA) A0 E 14T 407 & . KT (FLR40) FHEAXH 3 3|w150

105\ AEEE (EET) 40 E {41 4T 4071 & S kT(FLR40) HEXH 3 3|w150

106 AEER(BFEKRE) |35 207 # H KT (FL20) ST 3

107 AEEE (BFRAL) S5—4T 207 H F KT (FL20) ST 2

108|{AE R (ZFRAL) 158757 vk 15R B FEAT(FL15) ST 3 3

109 (A B £E (FEER) 40T 18 3A 24T 407 & AT (FLR40) EBEM 1 2|w220

110[{AFE (2FER T) 20/, 547 vb 207 # H KT (FL20) ST 2 2

111 [{A B R (5P E2) 4RI Sy AT 401t & S KT(FLR40) ST 2 4

112 {AEfE (B4 %E) 407 Sy h24T 407 & . KT (FLR40) ST 1

13| AEEE GEENE) BHE JKER 4T BEH 29
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11F B&h(L 40RZ B {4147 40R EFAT(FLRA0) [FRE XM 6 6]W150
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3 HHE=E LEDFH- D AR 6 LED
41 BHEE LEDFH- D ARIE 2 LED
5[1F fHERE-IEE |40 EF24T 40 B EAT(FLR40) |BBE R 2 4]w230
6/1F HFERE A0 E (F24T 40 EFEAT(FLR40) |BER M 2 4]w230
I EEES A0 E {F24T 40 EFEAT(FLR40) |BBER M 12 24]W230
8|1F FAE=E A0S EH1KT (BARAT)  [402 5 4T(FLR40) [FRE IR 2 2
9|1F FHIEERE 40 E {F24T 40 EFEAT(FLR40) |BER M 2 4]w230
10[1F BEERTEE A0 E {3247 40 EEAT(FLR40) |BER M 1 2]w230
11[1F HE=R A0 E {F24T 40 EFEAT(FLR40) |BER M 20 40]W230
12(1F HBEERE 40 E {F24T 40 EFAT(FLR40) |BER M 2 4]w230
13[1F EMTERE A0 E (F24T 40 EFEAT(FLR40) |BER M 2 4]w230
14|12F B&h(L 40RZ B {4147 40R HEFAT(FLRA0) [FRE XM 6 6]W150
15|2F B4&hAL 4R, TS5 vk A0 FEAT(FLR40) [BERH 2 2
16[2F FRERSE 40T E (F24T 40 EFEAT(FLR40) |BER M 2 4]w230
17[2F /Xyav=E 40RS1EIA 24T A0 RILIT(FLR40) [STxRH; 12 24]W300
18[2F /Xyav=E 40RS1EIA 24T A0 RILAT(FLR40) [S TR 32 64]W300
19[2F /RyaL=E 40T EEIA KT (B ARKT)  [40RZEMAT(FLRA0) (ST 3cH#: 3 3|w220
20|12F /N\YOVERT [20BEF24T 20 FEAT(FL20)  [BBEXH: 1 2]w230
21|2F HEE A0S EAH1KT (BARAT)  [402 8 E4T(FLR40) [FRE iR 2 2
2[5 F=Z3—Fk SR 400WIK R 4T R 8 3
23[4% F=2a—F RS 400WK R 4T XM 4 4
24/ F=Z3—F SR 400WIK R 4T R 4 4
25|50 AHEE 40T E 24T A0 FEAT(FLR40) [BERH 3 6]W230
26|15t FAMSERTERE [|40BE(T24] 40 EHAT(FLR40) |BBER M 1 2]w230
27(5 HibEE 40857247 A0 FEXT(FLR40) [BBERHR 1 2]wso
28|45 EH=E 20 E (14T 202 B HEAT(FL20) |28 E3Ti 12 12[w150
29(5Y BE 40857247 A0 FEAT(FLR40) [BERH 2 4]wso
30|45t BZ&bkAL A0 E (14T 40 EFEAT(FLR40) |BBER M 2 2]W150
31|58t BL&bAL 20 E (14T 202 B HEAT(FL20) |28 E 3T 2 2]W150
32|15t FL (HE) A0 E (14T 40 EEAT(FLR40) |BER M 5 5|W150




